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QUESTION 1

An administrator finds that some desktop pools fail to report metrics back to vCenter Operations Manager 

for Horizon, while other desktops are reporting metrics as expected. 

Which condition could cause this behavior? 

A. The vCenter Operations Manager for Horizon server is not paired with a View Connection server. 

B. The vCenter Operations Manager for Horizon adapter is running version 1.0.1. 

C. HKLM\SOFTWARE\VMware, Inc.\vCenter Operations Manager\Client is disabled. 

D. The vCenter Operations Manager agent is disabled in the virtual desktops. 

Correct Answer: D 

 

QUESTION 2

An administrator identifies PCoIP packet fragmentation on the network. The following items have been 

discovered: 

Network Path Maximum Transmission Unit (MTU) is 1200 PCoIP Traffic has Quality of Service (QoS) 

What should the administrator do? 

A. Set router buffers to tail drop. 

B. Set router buffers to Weighted Random Early Detection (WRED). 

C. Set PCoIP MTU to 1500 

D. Set PCoIP MTU to 1100 

Correct Answer: D 

 

QUESTION 3

An organization has a View deployment with a Dedicated Full Clone Pool of Windows 7 desktops. Users 

connect to the desktops using a Zero Client with firmware 4.1.2. Periodically, the desktops display a black 

screen after inactivity or after they go to sleep mode. The View Connection Manager indicates the desktops 

are Connected. 

An administrator finds the following PCoIP log messages: 

 LVL:0 RC:0 SERVER==> WindowProC. Detected WM_DISPLAYCHANGE event 
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(1900x1200) 

and 

LVL:2 RC. 0 IMG_FRONTEND:DisplayDevice[0] states DISPLAY_DEVICE_ATTACHED_TO_DESKTOP
DISPLAY_DEVICE_ACTIVE 

What should the administrator do to resolve the issue? 

A. Configure the virtual desktop power management option Turn Off Display to Never. 

B. Configure the virtual desktop power management option Sleep to Never. 

C. Configure the virtual desktop power management option Turn Off Hard Disk to Never. 

D. Configure the virtual desktop power management option PCI Express Link State Power Management to Off. 

Correct Answer: A 

 

QUESTION 4

An administrator is preparing a virtual machine guest OS for a View pool deployment. A security policy requires that non-
VMware View Clients must not be able to connect directly to virtual desktops using RDP. 

Which configuration option should the administrator choose to meet the requirement? 

A. Set Allow users to choose protocol to No 

B. Set Default display protocol to PCoIP 

C. Set AllowDirectRDP to Disabled 

D. Set Default display protocol to RDP 

Correct Answer: C 

 

QUESTION 5

Users report poor performance over a wide area network. Ten users share a 5Mbps link for this site. The administrator
suspects a PCoIP configuration issue and locates the following PCoIP configuration settings: 

Turn off Build-to-Lossless feature = Enabled 

PCoIP Session Bandwidth Floor = 1000 

Maximum Frame Rate = 24 

PCoIP Client Image Cache Size Policy = 250 

Which setting is likely causing the performance issue? 

A. Turn off Build-to-Lossless feature = Enabled 
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B. PCoIP Session Bandwidth Floor = 1000 

C. Maximum Frame Rate = 24 

D. PCoIP Client Image Cache Size Policy = 250 

Correct Answer: B 
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